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obooboooooboboooooobooooboboobooooboooboo0oobOooboooon
gobooobobooooooboooboboooobooobOoobbooobooooboobboobooboOoog
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gboooobooobooboooobobooooooo
gobooboobobooboooobooobooboobooobooboooooboooboooooon
oobobooooooobooooobooboboooooooooooobobobOoDooog
oooobooooooobooooooon
oooooboobooooooooobboooobooooooo0obooobooOoooboDbo
obboob0moboooobooooooboobooobooooooooboooooooooboon
gbobOoboboobobooboooooooobOobobobobooooboooboobonbo
gboobooboobooboobooboobooobooboboooobooooooooobooaoon
ooboooooooobbooboboooooooooboboobboobooobooooboobooooo
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ooboooooboooboooboooooobooobbooooooooobbooooooboboooon
oboooobooboobobooooboboooobooo3x3oooooooooo
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0000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00 [e0e,0es] 0000000000000 00000000000000000 [e,0e:0e3] 00
000000000000000000000000000000000

0000000000000000000000000 wvy=u-v=|ullylcsé0 00000
000000000000 (-)0000

(u,vy=u-v (1.1)
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X3

O1l1.0000000000000000

ooooooooa
eirepr=1, e-ex=1, e3-e3=1 (1.2)

81'8220, 82'8320, 83'8120 (13)

00000000000000 1 0000000000000 [e;0e0e;] 0000000000
0000000000000 0Oorthenormal basisO 0 000000000000 OOOOO0O
00000000000 O0dorthonormal coordinates] 00 0000000 OO OO O Cartesian
coordinatest] 0 00 [0 0

123 ODO00O0OO0OO0OOOOOOOODOOD

0000000000000 00000O0O00yOUOODOOOO [e1Bexle;)0000OO00OODO

3
Vv =vie; +vyer +vies ZZV,‘e,‘ (1.4)
i=1

obooobOoboooogw@=123)00000vy000e(=1,2,3)000

vi=v-e; (i=1,2,3) (1.5)
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v-e; = (vieg + e +13€3) - €4
=vi(er -e)) +va(ez-er) +vi(e; - er)

= (1.6)

good
gooobooon (vi,vv)dooooogdydooooooooog

1%
3 1

Vv =vie| +vyer +vzes = Zv,-e,- — vy (L.7)

i=1
V3

goboobooobobooobooboboooobooooboboooooboooobbooobooboo
v=(mnw! 0OOODDODOOvyO0OOOOOODOOOOOOO

gbhobooobooboboboboboooboobobobobobooobobobobon
gobooboaood

=14, (1.8)

goooooobooooboooobo gHoooboooobooooboobbooooboo
goobooobooaoo

124 0O0O0O0O

ooooag4aHtia12yobogb;0oboobobooobooooboooobooooboooon
gbobooboaoboaooaan

1. 00 4jk---000 1,2,3000001,2,300000000000000000000
2. 00000000000Db0bObO0bDOobDoOoon
3.0000000000 1,2300000000000000

0o0o00o0oo0ob0ob0o0o0oobobobb0oooobDOoDODnD (freeindex)l D0 OD0O0ODO
0000000000 (dummy index) D000

obobooobooboooobooobooobooboooooobooooobooboobooOooooooDn
gbooooooooo
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1. 0000
Cl1+b1=C1
ai+bi=c = a+by=c (1.9)

az+ bz =c3

O0:/00000000000000O0DOO0O00000:00 1,2,30000000000
gbobodobgooboboobooboboobobooboobobooboboan
ubogbuoobooobogbboaoboabod

a,-+bi=cj, Cli+bj:Cj
obooobdog,jo 1,2,300000000000000b000b0o0obOoOobOon

2. 00000
Ui = Wjzj =C &= UV T UV + U3V = W1Z] + W2 + W3Z3 = C (1.10)

ob 4, j00000000D00D00DO0DO0DODOODOOOOO0OO0O00 1,2,3000
ooboobooooOobooooboooobooobooboobooobooooobooboooboooo
obOobooobooooboobooooboobooooooboobooooboooo
oooobooooboobooon

gooooooooooogoooooooooo0ga0ooDOobboOooonD yoooooo
goooogo

v=ve =-e)e; (L.11)

gbooooooooooboobobobooboooouovwOoooboybOoDbOoOOoOOOOOO
gooooobooooboboooobooooooboboboooOoboooo

Vi
v=ve = .V, © JV (1.12)
V3
Jo0dooooOoo0o00ooooooyOODOOOOOOOOOODOO (190000000
a by c
a+b=c = .. agi+tb=c © {a+tib =1 (1.13)

as b3 &)
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gbobooooboobobooboobooooooboooboobooboobOooboobooboon
ooooobobodyODoobbooboooooobooobooooDw(@=142,3) 0000000
googoboobooboboobooboobyDOODOODOODOODOODOODOOOOY =y
gboboboaobooboaooboooban

125 0000000O00000000O00000000 o

ooooooooobo a2 a3yooonoooogoo

1 (=)
e,--ej=6,»j, 6ij5 / (114)
0 @+
000000000¢,;00000000000€0Kronecker’sdeltal]l 0 000
oboboobooboooooooboobooobooobooboooooooobooobooooon

goooooooooooooonon
u-v=(ue) (vie;) =uyvje;-ej
26,'1'14,'\1]'
= u;; (1.15)

00o00.,,;00000000000000000004;0i=,;00000000000000
000¢;0000/=,,000000000000000000 ;000000000000
oooooo0ooooooooOdoooo0ooo0U0oDoO0dt -y ODOOODOOODOOOO
oooo
Vi
u-v:uivi:{ul U u3} Vo = UIVY + UpVa + UzV3 (1.16)
V3
00000o0ogoooooooooo0ooooooooooo0gooooooooooooo
o00ood0ooooooooO0oooo0ooDo0ooDoOo0o0oo0d0 w-vyOOOOOODO
00000000000 0oooooDooog |, w0000 O0D0O00 00000000
0000000000 00000 u-v=|u|vlcose0 00 O0D0O0ODOODO

126 000000000000 i
01200000000000D0«0v00000D0000O0DOOOODOOOOSOO

S = |lulllv]| sin@ 1.17)
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w=uxv=Sn

A

S =[ulllv]sin &
A

(V)
Vim

0120000000

ubobooboobotbb«0O0vyO0D0OOOO0OODOOODOOOOODOOOOOOODOOOOOO n
Ubber00O0O0O0OO0OO SODOODOOO Se=wlOOOO0OOODDOODOD «0vOO0OD0OO
ubooaboodaod

uxv=Sn=w (1.18)

booobooboobooboboboboooooboobote-yooooooooooOoOO
goooboobOoobOoOoOoboOoobboboobobOooooobDooobDOoobDOoobOooDboboOoD
gooobooooboboooooooon
obooooobooboboooob«0vO000O0O0D0OO0O0O0O0OO0OOODOOOOOOOOOO0
obooobOobooooboboooooboooon

vXu=-uxvy (1.19)

U0O0000 [e,erse;] DD ODDODODOOOODOODODOODOD 100000000000
UO0000000DbO0Db0O0OOe,en,e; 000000 O0OODOODOOOOOOODOODODOO 13
0oo0oo

ey Xey=e3, eXe3=e, e3Xe =e,
e, Xep =—-e3, e3Xe,=-—-e€, e Xe3=-—-e€),
ey Xe =exXer,=e3xXe3=0 (1.20)

(1200000000000

e; Xe; = e€jiex (1.21)
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. €3
A e =e,Xe,
e, =e;Xe
(23 _
e,=e Xe,

O13:000000000

014 0000000000000

O0000000000000O0¢4 000000 permutationsymbolJ 00 00g, 000000
1,-1,000000000000

1 G,k =(1,23),2,3,1),3,1,2)
k=13 -1 (G, jk=(21,3),3,21),(1,3,2) (1.22)
0 i=jor j=k ork=i

000000 140000004,k 00000000000000000000000 g =10
ooooooobo -1ooobooogoobooboooobooooo oboboboboboboo

goodoboboooooobboooooobooooa
€ijk = €kij = €jki »
€jik = €kji = €ikj = —Eijk »
€ikk = ik = €xi = 0 (1.23)

1.1®)ooooooooooob0oooooobo0ooooobbooooooobDOO0noOoo (.22
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(123)0000000000w=uxyO0DOOOOODOOOOODDODOOO

wie; = (uje;) X (viey)

ujvk(ej X ey)

€ jkU Vi€ (124)

oob0ooooooobOoobooobooboooboobooooooobooobooooo0ooonooo
gboboobOobooooboboooobobooooooo

wi UrV3 — UzVy
W=UXV=¢gjujvke; = . W = EjkUUiVk S YWy = U3V — UIV3 (125)
w3 uivy — usvy
1.27 0000OO0OO0OOOO
o000 «0OyOOOoOoOooOODDOO0OO0O0O0oOoOoO
uv (1.26)

Ub0b00ewevUOO0OOO0OO0OO0O0OO0OOO0OOCOOOOODOOOOO0O0 wevUOOOOOOOOOOOO
oooowdDOUOOOOD zOOODODO

z=@vIw=v-wu (1.27)
0000000 UOiOOoonooonooon
vuw =W -wy+z — uURV#VQu (1.28)

oood
OO000D00000DD0 [e,e,e3]10 (1.27)0D0000D00O0O

(e;®ej)e, = (e -ep)e; = je; (1.29)
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goooooooo a29yoooooo
z=@evw =  ze = ((we) ® (vje))) (wier)
:u,-vjwk(e,-®ej)ek
=u,-vjwk(ej-ek)e,-
=u,-vjwk6jkei
=Vjobtie,‘=(V'W)u
Z=wev)w=U -wu (1.30)
o000 a27n)0oo0oooooodooobo00oooooooooooooooooO (1290
oooooooo
0d0ooooooOo0o0o0oooooooooooa
v w®z)=V -w)u®z) (1.31)
goddooowOooo 270000000 ooobobooooobooaao
Oooddoobooooooooboooa2yuoooon
(e;®e))er®e) = (e;-ex)e; ®e) = (e, ®e) (1.32)

good

128 000000 O0ODOO0ODOOODOOO

Oodooo [e,e,es] D0 0ODODOOODDODOOODOOOO ADDDDDDDDD(8i®ej)(i,j=
1,2,3)) 00000000
AZAij(B,‘®ej) (1.33)

oooooooooOoOoOoOO0O0O000 Ay000D0O0O0O0O0OO
Aijj=e;- Ae; (1.34)
ooboooooooooo a29yyooooa
e;-Aej=e;-[Auler®e)le;
=ei"(Ak151jek)
= Agj(e; - er) = OirAy;j

= Aij (135)
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gboooboooobooobo
000000 A0000000000D00 A;03x3000000000000000000
0A0000OD0O0DOO

Ay Ap A
A =A,-j(e,-®ej) - .. A,’j < Ay Axn Ax (1.36)
A3z Ay A

ubogbobobobaobouoooobobobobobobobooboboobooooooban
ooooooo A;000O0O0OoO0 Ajl000o0oooo A0d0Ooggoooo

A A Ap
A=Ay Apn Axn (1.37)
A3z Ap Az

goboobooboooobod3ooboooboooooooboooooDoobn
obooooda2)0ooooooooboobooooobooon

uivy u1vy upvs
u®v=uivj(e,~®ej) = Wy, S |upvy urvy uvs (1.38)

Uzvy usvz Usvs

bobooboboooboobobooooboobooooboboooobooooooboooon

uvy urva uvs 231
Urvy Uzvy Uvz| = Uz {V] 1% V3} (139)
Uszvy  Uuszvy  Usvjs us

gboboooooboobobobobobobobobobobobpoooooboobobobo
goo

uj
u®v=u,-vj(e,-®ej) = LU S qup {Vl V) v3} (1.40)

us

1.29 ODO00O0OO0OO0OOODOOOODOObOOOn

000000 AODDOODOO0O0ODOO0OO0ODOO0O0ODw0D0O00ODOO0OOvyODOOODOOODOODO
ooooo
v =Au (141
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vie; = Ajj(e; ® e;)(urer) = Ajjui(e; - er)e; = A;juio jre;

=A,-ju_,-e,~ (142)
goodobobbobtoooooobbbboooooobobbbooooooo
vieizAijujei - .. vizAijuj (143)

gobobooboo..obboboy;boboobooboobooboobbooboobd
gbobogbooaobooabgadood

Vi A A Ap|jw
vieizAijujei == .. vizAijuj =1 Vo = A21 A22 A23 U (144)

V3 Az Az Az |\u3
goooooooooooooooooooooooooooooooooooobooooooo

gbooooooooboo
gobooobooroooooooobooobodovyOvybOoooOoooOOoOoOooOOooo

Iv=v (1.45)
000000 [ef,e2,es] 00000000 10000
Li=e-lej=e;-e;=0; (1.46)
oboooooobooooooobobooobooboooooobon

1 00
I=5l‘j(6‘i®6’j) - .. 6ij < |10 1 0 (1.47)
0 0 1

oboooo/o0oboooobooboonog
gbooooboobooboboboooooboobooboo a3)bood400oonooon
gboobooboooooobooooboboooobooboooogon

21 Uy wi
2=@RVIW = L L=uviw; S 3z =1 {v1 vy V3} W) (1.48)

23 us w3
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obooooboobooboooboooobooboboooboooboobooooooonboo
oooooobooooooo

<1 up wi uivy uvz2 uvi| | wi
Zi=Wwyvpw; © i =|juw {vl vy V3} wor = |uavi  uava  upvz|iwn (1.49)
23 us w3 uzvy uzva  uzvz| (ws

gboboooooboobobobobobooboboboboboboooobobobobo
gboobouooooobgooboboabo

21 uj wi uj wi
2= |\U2 {vl %) V3} Wy = U {v1 %) V3} wy (1.50)
23 us w3 us w3

oooOooboobooboooooboooboooboboooobooobo 1epOooboooboooooo
oboobOobooooboboooooboooobooboooobobooonog

21 ui wi up
20 =2 {V1 ) V3} wop|= iwr +vawr +vsw3)quy ¢ © i = (Viw)u
23 u3 w3 u3
= L z=0-wu (1.51)

0000 (127 0000000000000 (14800 (1.51)000(.27) 0000000000
00000000000 00000000

1210 0000000 OOOOOO

ooooOoOO0O00 ADDOODOOOOOOOO0O0 xODyOOOoooond
x.Ay:ATx-y :yATx (1'52)

00000000 ATOOOO0OO00000ATO ADDOOOOODOO transpose tensor(] [0 0 0 00
T
DDDQM)=ADDD%DDDDDDATDDDDDDDD

AI.TJ.:e,-.ATejeri-ej=ej'Aei=Aji (1.53)

152000
y-ATx:(AT)Ty-x:x-(AT)Ty:x-Ay
oooo
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000000000000A=Ae®e)0000 AT000000

AT =Al(ei®e)) = Aje;®e))

(1.54)

gboboooooooooooob gphpooobobobooooooooooooas4ooooog

oo

y-ATx = (ye)- (Aji(ei ®ej)) (xcer) = yiAjixi(e; - e))(e; - ex) = yiA jixp60jx = XjAjiyi

=x-Ay

(1.55)

000000000000000000000000000000 ATO AODDOODOOOOOO

0000000000000000000000000ADOO0OOOO [Al0000ATODOO0O

000 [A]00000 (AP 000000000000

1.211 O0000O00OO0OOOOOO

oO0o0oooD A00DDOO
AB=BA =1

(1.56)

O0000000B=A"'0000 ADOOOOOOinversetensor00 003040 A=A ®e))

gobooboobooobooboobobboon

AT =45 (e, @)

00000000000 (.56 000000000000
AA™ = (Ajj(ei ®¢))) (Apy(e, ®y)) = AijALi(e; - €,)(e; ® eg) = AijAL10;,(e; B ey)
= AjjA (e ®ey)
= 5,‘(1(8,‘ ®eq) =1
A'A = (A;,;(ep ® eq)) <A,~~,~(e,~ ® e_i)) = A;,qlAij(eq e)e,®e;) = A;;Aijéqi(ep ®e;)
= A A (e, ®e€))
=0pjle,®e)) =1
00000A'000A4;]0A0004,000000000000000

-1 -1
AijAj, =0ig, ApgAgj = 0pj

300000 detA#00000000000000 ADODOOOOOOO

(1.57)

(1.58)

(1.59)

(1.60)
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1.2.12 OO00OOOOOOO
oo0ooon0o AO0BOOOO
A:B (1.61)
gooooo (H)ooooooooooooooo
@Mev):we®z)=W- -w)v-2) (1.62)
dodooooooooooon «ex)00oooooooood0oddo0oooooooooo
gooooooooooooooboooooonooono
000000 [e0e0e;] 0000000000000
(e;®e)):(ex®e) =(e;-er)ej-e)=0ydj (1.63)

oo0ooo0o0o0o0ooObo0o0oooo0ooooDooo A:BOOOODOOOODOOOOO

A:B=(Aij(ej®ej)):(B]d(ek®el))
= AjjBulei ®e;) : (e ®@e))
= A;jBudid i
= A;;B;; (1.64)
oo ojobooddduooobob bbb bobbbbboboood
0000 AD BOOOOODODOODODO0DDO0ODOO0OO0 ,p00000b0o0oooboboooobo
aoo

0000 AO0BOOOOODOODOO [A]0[B]ODOOOCOOOOOOOOOOOOOOOOO0
oboobOobooooobobooooobooooooboonoo

A An An||Bu B Bis
A:B = . A;B; o u([A"[Bl)=tr||A;, An Asn||Bn Bn B
Az Ax As||Bsi Bx B
=An B +ApBn + Ai3Bis
+ A21Ba1 + A B + A2z B3
+ A31B31 + A3B3 + A3z Bz (1.65)

0000u(«h 0000000000000 [«J0b0b0b0ob0ooboooDoboobDbobgooo
000000 ul[A] = «fA]"O te([A][B]) = tr([B][A]) OO O

A:B= tr([A]T[B]) = tr([B]T[A]) = tr([A][B]T) = tr([B][A]T) (1.66)
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gboboooobooboooboooboooooooboobooobooooooooboobooobooaon
ooooooooobooo

By

B>
AijBij=1A;1 A - Az

B33
=An B +ApBi; + AizBis
+ A1 By + A By + Axz B3

+ A31B31 + A3 B3 + As3B33 (1.67)
goooo0o/o00oo00ooo0ooooob0 A00ooooooooo
A IZAijé‘ij =A;=t[A]=trA (1.68)

goboboooooooooooooooboooobooboobob (:H)boboOoboobooboooo
gobobooobooobooobboboobooboobooboobobbobobooboan

A:BC = AijBikaj
= B,'kA,'jij = BTA :C
= AijijBik = ACT B

= 0jAijBaCim =1 : ATBC (1.69)
oooooo

A:B:IuﬂBzu@ﬂB)

=AMHI=u@BU (1.70)

ooooobooboono dee)inooooon

1.213 00000OO0O0bOOoooboobobooog

obobooobooobooooobooobooobobooobooboooooooobooooboooooon
gbbooobOooooobOoooobooboooobOoobooobOoobo0oobobooogoooan
O00ADBOO0O0DOOOODOOOODOOOOODOOOO

B=GA (1.71)
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gboboobOoboooobobooobooboooobooboobooboboooooboooon
oooooobooooooobooon

Bije;®e)) = GijuAule; ®e;) (1.72)
goooooooouooooo

GijuAu(e ® e;) = GijuAnmndimOm(e; ® €;) = GijiAmdum(er - en)e; - €,)(e; e;)

=Giuei®e; e, Q¢ : (Aule, ®ey)) (1.73)

00000¢O0O000000000000000000000000000 (:)0000000
00000000000C000000000000000000000000000000000
0000000000 0000000000000000000000000000000000
00000000000000000000000000000000000000000000
Ooo00O0O00 (:)0000

B=G:A (1.74)

ooooooooo

1.3 0000Oo0oOooo0oooooooon

1.3.1 00O (gradient)

00000000 Q0000000 x0000000000000000f(x)0000000
0000 fx) 0 QOO0000O000O0O00000000O0O0OO0O000000000000 x0O
00000000 fx»000000000000000000000000000000000
000000000 QO00000000000000000000000 QOOO000000
0000 fx) 0000

00000 x0000000000000000

X1

X=Xxe = .. X & X (175)

X3

Oo00o0o0o00o0ooOb0o0ooDo0o0ooOoO0ooo0DO0oo0DoO0DO0n f(xD

fx) = f(x1, x2, x3) (1.76)
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gbooobooibo (x,x,x)000000000O000O00O0O0O0DOOOOODOOO
oooolb fxm)Ub0oobooobooboobbooboobooboooboobooooobbooo
oooooobOobOooooboDboD Ly 0000000000 0ODOOO0ODODO

oo
of of of  of

dx; " dx, " 0xy Ox;

oooooooooooon fmooooooOoooboooooboooooboooooDooboooo

(1.77)

0o
of
df=v. =%
grad f = V.f = 2L
of
of af of  of of %)}1
= — —_— o = —¢; oo — _— 178
o Tttt T s ox (1.78)
ax3

O0000D0 fx)D00D0gradientDOOODV, 00000000000 x=(x1,x,x)0000
0

DEIDDDEIDDDEIDDDDDDDDDDDDDDDDDDDDDDDDDa—fﬂ grad f OO0
x

gboboboooboobooboobobbobooboobooboobobooboboaboo

00000 fx 00000000000
fx)=c (cO0D0O0D0DO) (1.79)

giobo0dxgobobooooboQboobooooooboooboooboobooooob cobbooo
o0ooooooobD 0000000000000 0000DO0 x0000000000 Vfx
gooobooobooooboobboooooooooboobooobooobooboooooboooo
oooooobooooboddfe)booooboboog
oboobooo1sob0b00ooonoobooooonoong fo=f(x,x)O0O0OooOoooOooo
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FIf o1 [f(xl +h,x0) = fx1,x00)  fx,x0) — flx —h,xz)}

ox3 h h h
20 +h,x) + —h, ]
) £t XZ)zf(XI XZ)—f(Xl,xz) (1.90)
Of _1[fGLx+h) = f(x,x)  fOn,xn) = f(,% = h)
ax% h h sz
2 [fxi,x+h)+ , X2 —h ]
-2 S, x )zf(xl x )—f(xl,X2) (191)
doboodoooobooooooboooooon
2 2
sz:a_era_f
ox?  0x3
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det A = det[A] = €3A1,A2jAx (2.12)
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36 020 0O0O0OO0OOOOOODOOOOO

022.000000000SarrusO00000O

oooo@leybooooooooooooo(L,2,3y0obooooboooogoo
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ooooooboooooon

detfA] =00 000000000000000O00O0DOO0O0%2000000000000000

coooooooooooooobooooooo
‘J00o0000000000O0OO0OOOOOOOOOOOOOo




38 020 0O0O0OO0OOOOOODOOOOO

good
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=€vivive (0 vyild vv))
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ubdbbedbOUdwdbobobuooooboboboboobooboboboboooboban
booobooboooooboboooboobobeuOoOoOoooOoobononono

w = Av = A(Bu)
= ABu

w = ABu (2.26)



21. O0O0O00OO0OOoO0oOoOoobOoboooooon 39

Jo0ddOC=AB0000O(32)000D0O0O0DODO0O0OOODODODOOOOOOO
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A=Ay, ®e) (2.60)
000000000000000000000000@®.59000000
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AT =1: A" =6;A; =A; =ul[Al =tr A (2.71)
tr (AB) =1:AB= 6iinkBkj = AikBki = tr([A][B])

= By;iAi = tr ([B][A]) = 6uBriAy =1 : BA =tr(BA) 2.72)

gobooboboooooooboooboooobooboobbooooooboooboooboonboo
ooooboobooooobooog

trA = u[A] = tr ([TIANT]") = e ((T1"[T1[A]) = tr ([1][A]) = r[A] (2.73)
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O0o0ooooboooood A, =A,0000000000McrAD0000O0O00O0OOO0
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trA? = u[A]* = AjAj; (2.75)

tr(ATA) = tr([A)[A]) = AyjA;; (2.76)
00000000000000000000000000
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det[I] = det ([T]T[T]) = det[T]” det[T] = 1

det[T]"

~ det[T] 2.79)

googoboogon

det A = det[A'] = det ([T[AI[T]") = det[T] det[A]ﬁm = det[A] (2.80)
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[A] = A (2.81)
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oboooooboooob HA)OOODO AAOO0ODOOOOooon

dH(A + hAA
DH(A)IAA] = % h=0

B d(det(A+hAA))|

B dh h=0

_ [0(detA)

oA
Jdddd0do0odo0dd0od0o0000o000o00U0oO0oO0oO0O0oO0oO0oU0oU0oUoOoOoOoOooooooooon
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ooooo0o ®ee)0ooono
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D(det A)[AA] = 0(2&3@ : AA
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gboooboooooogn
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UO0O00ODFw)glUDOOODOODO go0OOobOO0bOO0OO0O0DFw)yOUOOwDhODO FOOO
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Gw)=F,(Fxw) OO OO

DG(w)[a] = DF, (F,) [DF,(w)[a]] (2.133)
[00]
dF| (F>(w + ha))
DG(w)[a] = T|h:0
_ OF\ (0F,
AN

_oF,
= 9F, (DF>(w)la])

= DF, (F>) [DF>(w)[a]]
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jddgs40000000000OwDODODODOD swOOOOOOUOOOODODODO FOOOOOF
O0wOOOO 6w O0ODO Gateaux O O

dF(w + héw) _OF

DF(w)[ow] = - o= W

(2.134)
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0F(w) = DF(w)[ow]

_dF(w + héw) : 6F6

= 2.135
an o~ W (2.135)
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